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Lesson 1

Multiplying 2-digit numbers @ m_

Discover | a) 30+ §mP8m

1
20m 8m

1

104 5=150 | 9™

5m

The length of the new supermarket will be 28 m.

ol gt The width will be I5 m.
~—
New supermarket floor plan "‘J b) — | —
20m Sm J To find the total area The area model looks like
‘ T I need to work out the grid method. I will find
\ Main food aisles Bakery 28 x I5 but I am not the area of each part of the
‘ sure how to do that. supermarket and add them
- — together to get the total area.
Fruit and vegetables Café 2~ —W
5m B
20 m 8m HTO
2 00
10 m 20 x 10 =200 m? 8 x 10 = 80 m? I 00
8 0
@ a) What will the length of the new supermarket be? + 4 0
. . 5m 20 x 5 =100 m? 8 x 5 = 40 m? 4 2 0
What will the width be?

b) What will the total area of the new supermarket be?
The total area of the new supermarket will be 420 m?.

This is the same as 28 x I5.




Lesson 1

Multiplying 2-digit numbers )

o a) Use the area model to work out 26 x 14,
26

- =)= -
26x14=(_ ]
b) Use the area model to work out 17 x 42.
r II7 1 i
) )
.
)

|7x42=[:]

c) Zac says, ‘On my area model, I put 42 along the top and |7 down the
side.’

Will Zac still get the same answer? Explain why.

o Work out these multiplications.

a) 27x34=[:]
H

T O

b) 53x38=C] L

~—

o Each day Mike runs 41 km. How far does Mike run in 19 days?

Mike runs C] km in 19 days.

o Bella is working out 53 x 27.

Circle the mistakes Bella has made. What is the correct answer?

50 3 Th HTO \ﬁx‘
350
20 50x20=100 | 3x20=60
I 0 0
6 0
7| 50 x7 =350 3x7=10 " I 0
I 1 50




Lesson 2

Multiplying 2-digit numbers @
Foneove

34 x 27

Josh Lexi Zac

30 y
30 x 20 = 600 | 4 x 20 = 80
30x7=20 | 4x7=28 34 x 20 = 680 34

ThH T O 3 * 27,
T 2 328 34 x7
680 34x20
918 34x27

]

y

6 0 0 74
o 2 3 8

2

680 + 238 = 820

ll—

:0 a) What mistake has Josh made?
b) Look at Lexi's method and Zac's method.

What is the same? What is different?

a) The calculations in the grid are all correct but Josh has lined up the
numbers incorrectly in his addition.

= d ThH T O
20| 30 x 20 = 600 |4 x 20 = 80 6 0 0
7| 30x7=2l0 4x7=28 2 1 o0
8 0
+ 2 8
9 | 8
The correct answer is 918. !
34 x 20 = 680
b) Lexi partitioned her number and worked
out each multiplication separately. 3 4
Lexi did that correctly, but she then made x—7
a mistake when adding her two totals. 2 3 8
2
Zac did the same as Lexi, except he did
it all in one column multiplication and
made no mistakes. This is called long
multiplication.
3 & 34 34
x 27 x 27 x 27
238 34x7 238 34x7 238 34x7
680 34x20 680 34x20

9 1 8 34x27
0

" Did you notice that Zac placed —
a 0 here to show that he is
multiplying 34 by 20 and not by 2?

\ .




Lesson 2

Multiplying 2-digit numbers @

o a) Olivia and Jamilla are working out 34 x 12.

They each use a different method. Complete their methods.

Olivia's method Jamilla’s method
34 3 4
HTO x | 2
10
+ 0
2

34x|2=D

b) Whose method did you prefer? Why?

e Complete the following column multiplications.

a) 2‘1x23=D b) 37><|5=C]

2 9 3 7

x 2 3 X I 6
29 x3 37x6
0 29 x 20 0 37 x 10

29 x 23 37 x 16

e Complete these calculations.

a) 45x27=:] ) 4qx34=[:]

4 5 ¥
X 2 7
45x7
0 45x20
45 x 27

[ )x( )= ] d)zsue:C]

5 2 %
7

o A snack bar has 85 calories.

How many calories are there in a pack of
24 snack bars?




Lesson 3

Division with remainders

Each tray holds
6 cake cases.

We need to put the cake
cases into the trays.

@ a) How many full trays of cakes can be made?

Will there be any cake cases left over?
Use a method other than short division to find your answer.

b) Check your answer using short division.

f I put 80 counters
into groups of 6.

a) Method | 13 full trays

0000000000000 O 2 left over
0000000000000 O

>

5

: 0000000000000

s 0000000000000 Remember the

c 0000000000000 amount left over is
0000000000000 called the remainder.

We use the letter r to
represent remainder.

80+6=13r2 \Q
There are 13 full trays and 2 cake cases left over. ¢ b

«€ A

Q—>

Method 2
I%6=18 10 x 6 =60
—t } |
0 2 20 80
il nEannEanaes
w
I used a part-whole
60+6=10 model to help me.
20+6=3r2 \S
@ a S0,80+6=13r2




Lesson 3

Division with remainders

0 Complete the short division for 74 + 3.

3(7 4

9 Jamie shares 76 sweets equally among 6 of her friends.

r

T 0
0/0/0/00] 0000,
OO
T o
00 0/0/0.0.0
00 0/0/0.0.0)
OOOO

a) How many sweets does each of her friends get?

Each friend gets C] sweets.

b) How many sweets are left over?

There are C] sweets left over.

c) 1,393 sweets are shared between 3 jars.

How do you know that there will not be 5 sweets left over?

e Work out these divisions.
a) 56 +5 c) 418 +9 e) 973+ 6

5|5 6 Q|4 | 8

b) 329 +2 d) 4,175+ 4 f) Lin=8

2(3 2 9

e Toshi has 712 jars of jam to pack into boxes.

He puts 6 jars into each box. Can he pack all the jars into boxes without
any remainders?

ew Match each question to its remainder.

Are there any that you can match without working out the division?

5|4 8 719 7 219 9

CRONCECONON OO
a7 6 3[a 3 4[8 6



Lesson 4

Calculating perimeter

Discover |

The width of this
football pitch is
70 metres!

The length is
100 metres.

o a) What is the perimeter of the football pitch?
b) What is the length of the playground?

Iran around a

square playground.

It was 200 metres
in total!

I am going to sketch
a picture to help find

the answer. 70 m

100 +70 + 100 + 70 = 340 m

| ——

I added the length
~ and width and then
doubled the result.

100 +70 =170
170 x2=340m

calculation to do first.

- In this example, double the
- length and double the width
,,\before adding them together.

100 m

100 m

100 m

Brackets show which bit of the \

(70 x 2) + (100 x 2)
=140 + 200
=340m

The perimeter of the football pitch is 340 metres.

a) Jamie and Ebo gave the length and the width of the football pitch.

70 m

70 m




Lesson 4

Calculating perimeter

Calculate the perimeter of each of these playing fields. Show your
a) (length x 2) + (width x 2)

2+ (e

= 90 m
The perimeter of this playing field is D m.

working. S
CJ-C ]
125 m

b)

110 m
The perimeter of this playing field is C] m.
&
N
Find the perimeter of each
rectangle.
24 cm
Ilcm A Ilem
The length is 4 cm
24 cm more than the width.

% \

e Each square tile has a side length of 10 cm.

Luis puts tiles together to make different shapes.

A B (& D
Complete the table.
Shape Number of tiles used Perimeter (cm)
A
B
C
D

° The perimeter of this rectangle is 50 cm. ( I know that a rectangle has

two pairs of equal sides.
I will start by subtracting
the two widths from the
8 cm perimeter.

What is its length?

-

The length of the rectangle is D cm.




